TABLE ASM-FLAT,STEEL,FORMED,15X48

040032-04-15-00

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 084190-04 TABLE TOP, 15"W X 48'"L 1
2 040029-04 ASSY, ADJ LEG 15" 1
3 084194-02 CROSS BRACE, FORMED TABLE 2
4 096779-00 CRG BOLT, 5/16-18 X .75 16
5 099361-16 5/16" FLAT WASHER 16
6 099384-07 5/16" LOCK WASHER 16
7 099370-07 5/16"-18 HEX NUT 16




	Sheet1
	Drawing View1


